v duulld gble ool w9dsd Idede ele
9ogduol s JTAPI GW

lJpzogsle

lowod ol izble ol o Jlzol

29, ! Ve Iululs

|Jp 95006
359,02 03l lUp oo Jsdss oo l2ale 1dsdsd B wzdle wolos JTAPI (JGW) s pdlldpb
PSP
pobdole 1wl uss
lJeobdolo
w9os Cisco g_;ig') oJ9o s pgy96 wldesluose 1Joldss:
* 2dod pduwuwle el IUlouold IJesesé pu Cisco (UCCE)

* 2dod paunuwle poldj Idleuold Jzjes Cisco (PCCE)
* wyuleg Cisco Unified Communications Manager (CUCM)

lJpdouvlo Idpuuweispd

oo Idpedsele 1Ugss B o3l IJpuwows Is luesble Idwlez sldpdsole 1Jelss IJoldss:
 Unified Contact Center Enterprise. |Jl_o>l, 12.6(1)

op logsle IJpgdsple 1936 B 03l lJpuuews pu 1Ulz036 1J092936 B wsisé pepdss ¢luos.

o zese IJizoss IJpuwctsps B o3l lJpuwons vodssu ppuwsz (IBelups). Il Jloe
wedod 96 IJogvgsd: Wolds oy Wopd JJules) Idpeeed Jis lp).



N ERY:

gpJso w9lwo JTAPI (JGW) o Idgpdso IUpu99ds g wosise IJlooldle pg CUCM py gJIJ
JTAPL. sopad IJE oo Ihssuvs B wedu lpsle 1Jsdsd 9pldowel laule luvasls luvesgls
ACD Iy Bs 2lJs Gsle IJgpsd woudss bs pu ldpole 1Upe9u8,6 oy Finesse. IJg, Lo pu o3l
lJpumows 09 wedw 99 selsd lole pdldps pdop, pe 99 1) 96l o Idodlb 1wl uss
lJos spdu lu ogwles eds luwodivlo IRble o3 IUlsle 9luodlzol.

Jldzolisu IUghpsu opl pdzdle gds CUCM sldpeod 09 58p PSTN.

CUCM 192,168,10,10
IJsdsd 11dpedz$ 1080
IUsIsd 2 1Jpdes 1082

w99 ilpd Jdpdldple:
PSTN > pJde > CVP > ICM > VVB > CUCM > gdsJ
culuo) olpé SULES ié}ol Vs Idlgool):

1) deviceName —> IJgol; IJ3s sodds lJpdldped

2) CallLegIlD —> swwgsp o3l Jogldw lJpdldps BOs wows JGW

3) CalllD —> pg,8 IJpJldps IJ3s wp logvlye JJloold

4) CallActiveEv CID —> spJdu wesSU &) W56 [Je9y)> (CID) o3l Llguegsle CTISVR 9 OPC 9
PIM CIdlolws |Js wgde Idpdldpes s ICM

5) 59J6—> 030 0 glJlw IJusle s JGW

Sewds JJ 2o eds L, vuwduwds. Bl Il JGW sy uwd bdol spdod [uwaegsle 1080
lJouwduwds Jogde lJluweegles oo CUCM CTI Manager.

23838 1Jpedldele gl 1Jpuwe9s

1) s89p puweoes PSTN Clgle pdldps eds 1dr8e 1dezlos JJuorsed (TFL) IUss suad s
CUBE &, CVP.

2) v lole w38 pdldple IJubled: sop wozso Ipdldple Ids IJgesd 1 og 11wl 1080.
3) IJsJsd 1 I2e,) "luwouilys!" Ws Finesse g Dials Agent 2 Extension 1082.

4) ewdpl sSwp yub IJpdldps sy IUgddle: @vﬂ IJepsd 1 VOs 1Jpdep,.

5) gwel oo zase 11k, poods wog ool sed> IJpdc ).

lweduvld IJlgble gl oJlzol

lovegsp puwessle ouozse IJigble 030 Jlgued vl Igble 5 ulisd JGW slusble w)y9e939]
wae eduwé IJepd (SIP) IJpblu s £Js CUCM gl odlzol:



Slos

eJs "wslus IJsdsd 1dl,ds8" (PG). Iuwagse 1316 Procmon 1Jewless pu lzd wuvésd IJooos
Jepdss JGW:

C:\>procmon <cust_inst> <node> jgw<jtapi instance>
>>oo0g JT_TPRETS /on

>>>o00g JT_JTAPI_EVENT_USED* /on

>>>o008 JT_PIM_EVENT /on

>>>o00g JT_ROUTE_MESSAGE /on

>>>o008 *CONF* /on

<cust_inst> = p&sJ CCE.
<node> = 03l 09 PG g5 v )60 IJgpd edso.

<jtapi instance> = , 9 lJposJ IJpgsu Jepdsé JGW. spdud ldegey, eds 03l 1U,80 pu
Diagnostic Portico > Services > List Operations.

vadministrat

n hours may have performance impact and unexpected service i

SpIdud L;Qal luvwgsle Diagnostic Framework Portico gJs Agent Pg 955056 pwwss ldooowg
Jepdso JGW |Js 3. J3JYi luodd Ids coe > ogssu puvess IJoowg > wpass IJedss >
oS ldpuweys > huwld.



+lills - Unified ICM/CCE Diagnostic Framework Portico

Clsco

Hostname: ccecall.dcloud.cisco.com Address: 21

Paripharal Gateway 3Agwl v 2
|

== g

-UnknownState 0

-ldleState 1

-OfferState 2
-AcceptedState 3
-DialtoneState 4
-DialState 5
-RingBackState 6
-BusyState 7
-ConnectedState 8

->9J6 lJpwlegd 9
-OnHoldstate 10
-TransferOnPendingState 12
-TransferOnHoldState 13
-DisconnectedState 14
-CallWaitingState 15
-RemotelnUseState 16
-ProgressingState 17
-WhisperState 18



cedsd pBuod Josdd Idpdldple

oJés Isdsd pdldes po PSTN ssbo, 1216 2 Jg,un.

7:18:17:959 pg3a-jgw1 IJowog: 393: s9dsy 10 17:18:17.959 EDT #JTAPI-Protocol-7-UNK:(P1-
192.168.10.10) wp luvodlpe lJz>e: com.cisco.cti.protocol.NewCallEvent {

EventSequence = 61236.
17:18:17:959 pg3a-jgw1 IJowwe:
LineCallManagerID = 1

&) IJgb =32
lineHandleSpecified = true
deviceName = UCSFSGIERS.
17:18:17:959 pg3a-jgw1 IJowog:
callCallManagerID = 1

callLegID = 27308081
globalCallManagerID = 1

CalllD = 7470099.

17:18:17:959 pg3a-jgw1 IJowwe:
callParty = <PSTN Number>
callParty = 1080

originalCallParty = 1080

lJzlJs = 2.

17:18:17:959 pg3a-jgw1 cowg: 396: s9ds9 10 17:18:17.959 EDT #JTAPI-Protocol-7-UNK:(P1-
192.168.10.10) wp luvodle lJz>e: com.cisco.cti.protocol.CallStateChangedEvent_V2 {
EventSequence = 61237.

17:18:17:959 pg3a-jgw1 IJowog:

LineCallManagerID = 1

&) IUgb =32

callCallManagerID = 1

callLeglD = 27308081

lJelds = 2.

17:18:17:959 pg3a-jgw1 wwog: CallActiveEv CID: 24247315.

17:18:17:959 pg3a-jgw1 IJowog: ConnCreatedEv CID: 24247315 (7470099/1) IJg wslw: 1080
CurCall: 55551234 CurCallURLType: url_type_unknown curCall: 1080 CurCallURLType:_URL
luvwogle type_sip: 55655551234: 1080 jwou: ghs.

wp wEsS) IJepdldes [Us 2lds pdusds.

17:18:18:006 pg3a-jgw1 lJowwg: 438: JUL 10 17:18:18.006 EDT #JTAPI-PROTOCOL-7-
UNK:(P1-192.168.10.10) wpe luvedle IJz>&: com.cisco.cti.protocol.CallStateChangedEvent_V2 {
EventSequence = 61238.

17:18:18:006 pg3a-jgw1 lJowue:



LineCallManagerID = 1
&) lJglb =32
callCallManagerID = 1
callLegID = 27308081

IJz1Js

Souwd JGW bdo IJlzlws. spdoud 59686 1U)9e IJouwduvds 11057, codds luvoglesd woil
lde IJouwdunds.

17:18:20:653 pg3a-jgw1 vowg: 462 s9dsy 10 17:18:20.653 edt #JTAPI-Protocol-7-UNK:(P1-
192.168.10.10) [GW-ThreadResponseCall] |, _wlJ:.com.cti.protocol.CallResponseRequest {
sequenceNumber = 11057.

17:18:20:653 pg3a-jgw1 lJowue:

LineCallManagerID = 1

ey IJglb =32

callLegCallManagerID = 1

callLegID = 27308081

MediaDeviceName =

mediaResourceld = 0

).

17:18:20:784 pg3a-igw1 coog: 463: 599 10 17:18:20.784 EDT #JTAPI-Protocol-7-UNK:(P1-
192.168.10.10) wp wJBs IJlgwezlwé: com.cisco.cti.protocol.CallResponse {
sequenceNumber = 11057

lJowses =0

}.

e lople IJpdlJpd ousl Bs 1986 wae IULuwld slJlgueduld: pol seus lu RTP sop louoldo.

17:18:20:784 pg3a-jgw1 IJowog: 464: s9dss 10 17:18:20.784 edt #JTAPI-Protocol-7-UNK:(P1-
192.168.10.10) wp wJd s IJese: com.cisco.cti.protocol.startTransmissionEvent {

eventSequence = 61239
deviceCallManagerID = 1.
17:18:20:784 pg3a-jgw1 lJowue:
devicelD = 34

callCallManagerID = 1

callLegID = 27308081

ipAddr = -494595386
rtpPortNumber = 8980.

17:18:20:784 pg3a-jgw1 IJowowg: 467: s9dsy 10 17:18:20.784 EDT #JTAPI-Protocol-7-UNK:(P1-
192.168.10.10) wp wJdBs IJese: com.cisco.cti.protocol.startReceiveEvent {

eventSequence = 61240



deviceCallManagerID = 1.
17:18:20:784 pg3a-jgw1 IJowog:
devicelD = 34

callCallManagerID = 1

callLegID = 27308081

ipAddr = 1267012294
rtpPortNumber = 20704.

lowosgle ogss) s 1dzlds 8 sgus pouad.

17:18:20:784 pg3a-jgw1 IJowwg: 482: JUL 10 17:18:20.784 EDT #JTAPI-PROTOCOL-7-
UNK:(P1-192.168.10.10) v, wJls lJg>e: com.cisco.cti.protocol.CallStateChangedEvent_V2 {
EventSequence = 61242.

17:18:20:784 pg3a-jgw1 IJowog:

LineCallManagerID = 1

&) IJglb =32

callCallManagerID = 1

callLeglID = 27308081

lJelds = 8.

eudpl $yss 1U9dsd IdSsle wlpwounlé 0dd (pswe)) wos ldbde sHuwd IJs CUCM. 9o s
vosed IJouwduwd sg9> po CUCM.

17:19:28:463 pg3a-jgw1 vowg: 780: s9dsy 10 17:19:28.463 edt #JTAPI-Protocol-7-UNK:(P1-
192.168.10.10) [GW-ThreadConsultingCall] |, wlJ:.com.cti.protocol.CallSetupTransferRequest {
sequenceNumber = 11062.

17:19:28:463 pg3a-jgw1 IJowog:

LineCallManagerID = 1

&) IJglb =32

callLegCallManagerID = 1

callLeglD = 27308081.

17:19:28:463 pg3a-jgw1 IJowue:

newCallManagerID =1

newGlobalCalllD = 7470101

callAddress = null

DESTaddress = 1082.

17:19:28:463 pg3a-jgw1 IJowug:

UserData = null

bNeverConnectMediaForConsultCall = false

).

17:19:28:595 pg3a-jgw1 cvowg: 791: s9dsy 10 17:19:28.595 EDT #JTAPI-Protocol-7-UNK:(P1-
192.168.10.10) oJ s luwegleé: com.cisco.cti.protocol.CallSetupTransferResponse {
sequenceNumber = 11062

lJowses = 0.

loolld Jpouod IJs 8ss Idluw bl gos 1delds 10.



17:19:28:595 pg3a-jgw1 IJowwg: 781 s9ds9 10 17:19:28.595 EDT #JTAPI-Protocol-7-UNK:(P1-
192.168.10.10) wp oJBs IJg>e: com.cisco.cti.protocol.CallStateChangedEvent_V2 {
EventSequence = 61255.

17:19:28:595 pg3a-jgw1 IJowue:

LineCallManagerID = 1

P& 1Jgb =32

callCallManagerID = 1

callLegID = 27308081

NRNE

Sup logule pdldped 23556 v_gluu{oé lJodsd. spdud |uwegsle Callleg IUgs>s> Jogdy 030
lJpedldpd 123856 Jdpuuwwgse IJIE).

17:19:28:595 pg3a-jgw1 woog: 797: s9dsy 10 17:19:28.595 EDT #JTAPI-Protocol-7-UNK:(P1-
192.168.10.10) wp luwedlp IJg>e: com.cisco.cti.protocol. NewCallEvent {

EventSequence = 61257.
17:19:28:595 pg3a-jgw1 IJowue:
LineCallManagerID = 1

&) 1Jgb =32
lineHandleSpecified = true
deviceName = UCSFSGIERS.
17:19:28:595 pg3a-jgw1 IJowue:
callCallManagerID = 1

callLeglD = 27308086
globalCallManagerID = 1

CalllD = 7470101.

17:19:28:595 pg3a-jgw1 lJowue:
callParty = 1080

callParty =

IJioJs CallParty =

lJzlJs = 4.

17:19:28:879 pg3a-jgw1 IJowowg: 883: s9dsy 10 17:19:28.879 EDT #JTAPI-Protocol-7-UNK:(P1-
192.168.10.10) wp wJdds IJese: com.cisco.cti.protocol.callPartylnfoChangedEvent {
EventSequence = 61262.

17:19:28:879 pg3a-jgw1 IJowog:

LineCallManagerID = 1

&) IJglb =32

callCallManagerID = 1

callLegID = 27308086.

17:19:28:879 pg3a-jgw1 lJowue:

callPartyChanged = false

callParty = 1080

callPartyName =

callPartyChanged = true.

17:19:28:879 pg3a-jgw1 IJowug:



callParty = 1082

wee o sesw 1J9dsd Il sop lJlouold.

17:19:32:828 pg3a-jgw1 cvoowg: 1017: s9ds9 10 17:19:32.828 edt #JTAPI-Protocol-7-UNK:(P1-
192.168.10.10) wp oJBs IJeg>e: com.cisco.cti.protocol.callStateChangedEvent_V2 {
EventSequence = 61278.

17:19:32:828 pg3a-jgw1 IJowue:

LineCallManagerID = 1

&) 1Jgb =32

callCallManagerID = 1

callLegID = 27308086

lJelJs = 8.

17:19:32:844 pg3a-jgw1 lJowog: 1074: ZJTAPI-CTI-7-UNK:(P1-
PG_USER){Line:UCSFSGIERS:1080:Everyone:(1.32)|Call:[GCID=(7470101/1).CID=27308086]}
CallChanged (V2) [State=Connected |J_w=noerror destType=IN_CLUSTER DESTcm=0 fwdD.

Sp Suuee ldydsd lds Idpouodss B 1dedees. wos Ide Jouvduvds sldluvoeles po
CUCM.

17:19:46:393 pg3a-jgw1 wwwg: MsgConferenceCall: HeldCID: 24247315 HeldConnDevlID:
1080/0 ActiveCID: 2427317 ActiveConnDevID: 1080/0 DialedNum: InvID: 120563.

17:19:46:393 pg3a-jgw1 IJoweg: 1079: ZJTAPI-JTAPI-7-UNK:(P1-PG_USER)[GW-
ThreadConferenceCall][(P1-PG_USER) GCID=(1.7470099)->ACTIVE]lJlbJ.: conference((P1-
PG_USER) GCID=(1.747701010))->¢,ub).

17:19:46:393 pg3a-jgw1 IJowog: 1080: ZJTAPI-JTAPI-7-UNK:[7470099/1]conference(): 9z6
IJogde Bs IJpsep, 1: [UCSFSGIERS/[1080:Everyone:1/(P1-PG_USER) GCID=(1.7470099)-
>ACTIVE]->9256 lJoedp B IUpdep)le: [FUCSSSSSSSSSSC: 2 ls.

17:19:46:393 pg3a-jgw1 voog: FFERS/[1080:All:1/(P1-PG_USER) GCID=(1.7470101)->uu b]-
>oloo]->oesw.

17:19:46:393 pg3a-jgw1 IJoweg: 1081: ZJTAPI-JTAPI-7-UNK:[(P1-PG_USER)
GCID=(1.7470099)->ACTIVE]conference ((P1-PG_USER) GCID=(1.7470101)-

>o Ul [UCSFSGIERS/[1080:all(101/ P1-PG_USER) GCID=(1.747009)->¢,Jub]->w e luulye]->.
17:19:46:393 pg3a-jgw1 coug: lg)le [UCSFSGIERS/[1080:All:1/(P1-PG_USER)
gcid=(1.7470101)->¢, v bl->clusuw]->ozso).

17:19:46:393 pg3a-jgw1 coog: 1082: ZJTAPI-JTAPI-7-

UNK:[IJle ol J:[GCID=(7470099/1).CID=27308081]]call.join(lJl< olJ:[GCID=(7470101/1).CID=2730808

17:19:46:393 pg3a-jgw1 IJowog: 1083: s9dsy 10 17:19:46.393 edt #JTAPI-protocol-7-unk:(P1-
192.168.10.10) [GW-ThreadConferenceCall] |, wlJ: com.cisco.cti.protocol.CallJoinRequest {

sequenceNumber = 11064.
17:19:46:393 pg3a-jgw1 lJowue:
LineCallManagerID = 1
callLegCallManagerID = 1



callLegID = 27308081

OtherCall = 1@].

17:19:46:393 pg3a-jgw1 IJowue:
com.cisco.cti.protocol.ClientCallHandle {CallManagerld=1
CallLegld=27308086

1]
}.

17:19:46:477 pg3a-jgw1 coog: 1123: JUL 10 17:19:46.477 EDT #JTAPI-Protocol-7-UNK:(P1-
192.168.10.10) wp wJdds IJluwwglewé: com.cisco.cti.protocol.CallJoinResponse {
sequenceNumber = 11064

lJowses =0
}

wee luuoele zese Uib.)[‘-é‘ sl 1Jpdee) IJz>s> 95wl Idbuwld slJluwedold IJgloe wooe
IJogvésd sero Jeese IUlb)l IUpguss (IJpouod wubeds PSTN sldadsiv).

17:19:46:477 pg3a-jgw1 woog: PrimaryConnectionMyConn: GenlD: 20193 IDVal: 27308081 Dev:
1080 DevTgStr: 1080 Addr: 1080 State: CcsTe puoJ: PreCCState:
EstablishedRegisteredLoggingln: Reportin: wp lJlgedle: wyulpz TOOPC: Y.

17:19:46:477 pg3a-jgw1 IJowwg: SecondaryConnectionMyConn: GenlD: 20198 IDVal: 27308088
Dev: 1082 DevTgStr: 1082 Addr: 1082 State: CcsTeTeTTCoTate: Established
RegisteredLoggingln: Report In: Reported Reportin: Reportin: ,ulez TOOPC: Y.

17:19:46:477 pg3a-jgw1 wwog: CiscoConferenceStart: CID: 24247315 (7470099/1) ConfCID:
24247317 (7470101/1) FinCID: 24247315 (770099/1).

17:19:47:725 pg3a-jgw1 IJowog: 1299: JUL 10 17:19:47.725 EDT #JTAPI-Protocol-7-UNK:(P1-
192.168.10.10) wp luvodlpe lJz>e: com.cisco.cti.protocol.CallConferenceStateChangedEvent {

EventSequence = 61299.
17:19:47:725 pg3a-jgw1 IJowwe:

LineCallManagerID = 1
P&y 1Ugb =32
callCallManagerID = 1
callLegID = 27308081

conferenceStateChangedID = 2.
17:19:47:725 pg3a-jgw1 lJowue:

globalCallManagerID = 1
globalCalllD = 7470099

modifyStatus = 1



17:19:47:740 pg3a-jgw1 IJowwg: 1396: ZJTAPI-CTI-7-
UNK:Call:[GCID=(7470099/1).CID=27308081] e Js |Jgol;:(P1-PG_USER) UCSFSGIERS(1.34)
StartTransmission MediaConnectionMode:3.

17:19:47:740 pg3a-jgw1 IJoowg: 1401: 2JTAPI-CTI-7-
UNK:Call:[GCID=(7470099/1).CID=27308081] e Js |Jzol;:(P1-PG_USER) UCSFSGIERS(1.34)
StartReceive MediaConnectionMode:3.

Jupzn lu suos Tz Il 1U5896. sEs) 1Jpse ey 1216

17:19:47:725 pg3a-jgw1 IJoweg: 1299: JUL 10 17:19:47.725 EDT #JTAPI-Protocol-7-UNK:(P1-
192.168.10.10) wp luvedle IJz>e: com.cisco.cti.protocol.CallConferenceStateChangedEvent {

EventSequence = 61299.
17:19:47:725 pg3a-jgw1 IJowue:
LineCallManagerID = 1

P& 1Jgb =32
callCallManagerID = 1

callLegID = 27308081
conferenceStateChangedID = 2.
17:19:47:725 pg3a-jgw1 IJowue:
globalCallManagerID = 1
globalCalllD = 7470099
modifyStatus = 1

Spedud 956 LineConferenceEndEvent IJ$l>p oo CUCM g CallLeg IJ3s lvos lJpdldpeé.

17:19:47:725 pg3a-jgw1 IJowog: 1301: s9dsy 10 17:19:47.725 edt ~JTAPI-Protocol-7-UNK:(P1-
192.168.10.10) wp luwedlp IJe>e: com.cisco.cti.protocol.LineConferenceEndEvent {
EventSequence = 61300.

17:19:47:725 pg3a-jgw1 IJowog:

LineCallManagerID = 1

&) 1Jgb =32

transactionIlD = 16777217

IJoele = vozse.

17:19:47:725 pg3a-jgw1 IJowue:

bRemotelnUse = false

IdleCalls = 1@]

com.cisco.cti.protocol.CtiCallHandle {

callManagerlID = 1

callLeglD = 27308086

11
sop IJlo logvle louold 236> pg 1UIb,lG 1Jeowds6.

17:19:47:725 pg3a-jgw1 IJowwg: 1309: ZJTAPI-JTAPI-JTAPL-7-UNK:{(P1-PG_USER)
GCID=(1.7470099)->ACTIVE} CallManager.conferenceCall: |oble loold zas> Jlboyud

lJeswele.



17:19:47:725 pg3a-jgw1 IJowwg: CiscoCallChangedEV CID: 24247317 Addr: 1082 pg ;9
el ps B> IJpsls: 24247315 (7470099/1) sep lJodle sds B> IJesls souslo Idluvosgle:
555551234 sop lUlouold wo £Js s 1Jzs!s 1dguslu: 1080 o8 Il wensgle IUIuods: 2247
317 (7470101/1) guslo IJlouold 1Jioods: 1080 gugly puweses luodsl: 1082 CiscoC.

17:19:47:725 pg3a-jgw1 lJoowg: 1354 ZJTAPI-JTAPI-JTAPL-7-UNK:{(P1-PG_USER)
GCID=(1.7470099)->ACTIVE} pglJzé STATE_CONNECTED IJl 2. J 555551234::2.

17:19:47:725 pg3a-jgw1 coog: 1371: ZJTAPI-JTAPIIMPL-7-UNK:[ FinalCall=(P1-PG_USER)
GCID=(1.7470099)->ACTIVE>CiscoConferenceEndEv event.Success=true.

e odis wdl¥s odBs wae 238> 9huwld wae zass Josdl Idleuold 1Ugsss.

17:19:47:725 pg3a-jgw1 IJowowg: 1391: JUL 10 17:19:47.725 EDT #JTAPI-Protocol-7-UNK:(P1-
192.168.10.10) wp s IJese: com.cisco.cti.protocol.startTransmissionEvent {
eventSequence = 61301

deviceCallManagerID = 1.

17:19:47:725 pg3a-jgw1 IJowog:

devicelD = 34

callCallManagerID = 1

callLegID = 27308081

ipAddr = 59052742

rtpPortNumber = 26320.

17:19:47:740 pg3a-jgw1 IJowwg: 1394: s9dsy 10 17:19:47.725 edt ~JTAPI-Protocol-7-UNK:(P1-
192.168.10.10) wp oJBs IJg>e: com.cisco.cti.protocol.startReceiveEvent {

EventSequence = 61302

deviceCallManagerID = 1.

17:19:47:740 pg3a-jgw1 IJowue:

devicelD = 34

callCallManagerID = 1

callLegID = 27308081

ipAddr = 1267012294

rtpPortNumber = 20704.

wee lowole IJpdldps wso IJlb,lWd 1pcwdss: uuess bdo Bbe IUlouold 1ss wp Lusldo
olJluolws |Js ConferenceStateChangeEvent.

17:20:07:835 pg3a-jgw1 IJoweg: 1521: JUL 10 17:20:07.835 EDT #JTAPI-Protocol-7-UNK:(P1-
192.168.10.10) [GW-ThreadClearConnection] |, wlJ:
com.cisco.cti.protocol.CallDisconnectRequest {

sequenceNumber = 11065.

17:20:07:835 pg3a-jgw1 IJowue:

LineCallManagerID = 1

callLegCallManagerID = 1



callLegID = 27308081
}

17:20:07:835 pg3a-jgw1 IJoowg: 1522: JUL 10 17:20:07.835 EDT #JTAPI-Protocol-7-UNK:(P1-
192.168.10.10) wp oJds lJluvweeleus: com.cisco.cti.protocol.CallDisconnectResponse {
sequenceNumber = 11065

lJowses =0

3.

17:20:07:881 pg3a-jgw1 IJowewg: 1523: JUL 10 17:20:07.881 EDT #JTAPI-Protocol-7-UNK:(P1-
192.168.10.10) wp luvedle IJz>e: com.cisco.cti.protocol.CallConferenceStateChangedEvent {
EventSequence = 61308.

17:20:07:881 pg3a-jgw1 lJowue:

LineCallManagerID = 1

callCallManagerID = 1

callLeglD = 27308088

conferenceStateChangedID = 4.

17:20:07:881 pg3a-jgw1 IJowwe:

globalCallManagerID = 1

globalCalllD = 7470099

modifyStatus = 2

9zl codds luvoduld lssle IJLusld J RTP.

17:20:07:881 pg3a-jgw1 IJoweg: 1526: JUL 10 17:20:07.881 EDT #JTAPI-Protocol-7-UNK:(P1-
192.168.10.10) wp luwedlp IJe>e: com.cisco.cti.protocol.stopReceiveEvent {
eventSequence = 61309

deviceCallManagerID = 1.

17:20:07:881 pg3a-jgw1 IJowue:

devicelD = 34

callCallManagerID = 1

callLeglD = 27308081

MediaDeviceName =

mediaResourceld = 0

MediaConnectionMode = 3

).

17:20:07:881 pg3a-jgw1 IJoowg: 1528: JUL 10 17:20:07.881 EDT #JTAPI-Protocol-7-UNK:(P1-
192.168.10.10) wp wJBs IJg>e: com.cisco.cti.protocol.stopTransmissionEvent {
eventSequence = 61310

deviceCallManagerID = 1.

17:20:07:881 pg3a-jgw1 IJowue:

devicelD = 34

callCallManagerID = 1

callLegID = 27308081

MediaDeviceName =



mediaResourceld =0
MediaConnectionMode = 3

I3
2lJs wess) Idlouold pg wow ludble Idlogoldc Bs 1dpeld 16 Jpuwe gbs Jdpdldple.

17:20:07:897 pg3a-jgw1 IJowog: 15636: JUL 10 17:20:07.897 EDT #JTAPI-Protocol-7-UNK:(P1-
192.168.10.10) wp wJBs IJz>e: com.cisco.cti.protocol.CallStateChangedEvent V2 {

EventSequence = 61313.
17:20:07:897 pg3a-jgw1 IJowue:

LineCallManagerID = 1
P&y IJgb =32
callCallManagerID = 1
callLegID = 27308081

lJelde = 1.
17:20:07:897 pg3a-jgw1 IJowog:

lJovow =16
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